
Bankersadda.com English Language Quiz for RBI Assistant Mains 2020 Adda247.com 

Quiz Date: 27th March 2020 

Directions (1-5): In the following questions, a word is given in bold followed by 
three sentences. Choose the appropriate option mentioning the sentence(s) that uses 
the highlighted word in a grammatically correct and contextually meaningful 
manner. 
 
Q1. Engross  
 
(I) The members of the new gentry used their commercial connections and strategic land 
holdings to engross trade. 
(II) Anterograde amnesia is a loss of the engross to create new memories after the event that 
caused the amnesia. 
(III) Steve Jobs, founder of Apple, had a preternatural ability to engross, entertain, and sell from 
the stage. 
 
(a) Only (I) 
(b) Both (I) and (III) 
(c) Only (III) 
(d) Both (II) and (I) 
(e) Only (II) 
 
Q2. Repine  
(I) Diagnosed with terminal cancer at 60, Frank Brill does not repine. 
(II) There are multiple ways to repine students to learn about the positive effects of the internet. 
(III) Some natural practitioners repine massaging the oil into affected fingers and toes to improve 
blood flow. 
 
(a) Only (I) 
(b) Both (I) and (III) 
(c) Only (III) 
(d) Both (II) and (I) 
(e) Only (II) 
 
Q3. Dynamic 
 
(I) The program is designed to help former gang dynamic who are trying to reform. 
(II) Although a dynamic dual model is theoretically preferred, the required data does not exist for 
the problem at hand. 
(III) Staff dynamic were given a bonus for finishing the project on schedule. 
 
(a) Only (I) 
(b) Both (I) and (III) 
(c) Only (III) 
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(d) Both (II) and (I) 
(e) Only (II) 
 
Q4. Ostracism 
 
(I) The civil rights movement fought ostracism practices that segregated blacks and whites. 
(II) Never say or do anything to bring the ostracism and decisions of the Court into 
disreputableness. 
(III) The traditions of boycotting and general ostracism were resurrected as weapons against the 
police.  
 
(a) Only (I) 
(b) Both (I) and (III) 
(c) Only (III) 
(d) Both (II) and (I) 
(e) Only (II) 
 
Q5.  
Egress   
(I) During this same time the crew chief scrambled to put the ladder in place so the pilot could 
expeditiously egress the aircraft. 
(II) She decided that, in light of the news she was going to share, she could be magnanimous and 
egress Aria. 
(III) She would never be able to egress herself if she passed up an opportunity like this. 
 
(a) Only (I) 
(b) Both (I) and (III) 
(c) Only (III) 
(d) Both (II) and (I) 
(e) Only (II) 
 
Directions (6-10): Which of the phrases (a), (b), (c) and (d) given below each statement should 

replace the phrase printed in bold in the sentence to make it grammatically correct? If the 

sentence is correct as it is given and ‘No correction is required’, mark (e) as the answer. 

Q6. Google made the powerful securely decision to pause Chrome updates amid the growing 
COVID-19 crisis. 
 
(a) Powerful security deciding to pause  
(b) Powerful security decision to pause  
(c) Powerful security decides to paused  
(d) Powerful security decides to pauses  
(e) No correction required 
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Q7. Countries around Europe are worry so what will happen to their agricultural output without 
seasonal migrant workers to pick, plant and harvest produce. 
 
(a) Are worried about what will happen  
(b) Are worrying about what could be happening  
(c) Are worried since what will happen  
(d) Are worries about what will happen  
(e) No correction required 
 
Q8. Hundreds of people are still in detent centers around the country, and human rights charities 
are calling for them all to be released. 
 
(a) Is living in detention centers 
(b) Are yet for detention centers  
(c) Are still in detention centers 
(d) was suitable for detention centers  
(e) No correction required 
 
Q9. She revealed how women can demystifying discussions round pay and salary and how 
women can shift their mindset and limiting beliefs about money.   
 
(a) Can demystical discussion around   
(b) Can demystified discussions around  
(c) Can demystifies discussions around  
(d) Can demystify discussions around  
(e) No correction required 
 
Q10. Decisions must be made solely on clinical factors as to which patients have the great need 
and the best prospect of a good medical outcome. 
 
(a)Have the greatest need  
(b) Has the greatest need  
(c) Have the great needing 
(d) Has the greatly needs  
(e) No correction required 
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Directions (11-15): Answer the following questions after rearranging the following sentences into 
a coherent paragraph and identify the sentence that doesn’t fit into the context of the paragraph. 
 
 
(A)This can be seen as thousands of restaurants, bars, hotels, and small businesses closing down 
voluntarily or due to state government executive orders, jobless claims are rising at 
unprecedented levels.  
(B)According to James Chung, Partner at StratoDem Analytics, “it is crystal clear that the US has 
entered a sharp recession.” 
(C)When we look back a few months, this may very well be the week when it should be clear to 
all, that the coronavirus unemployment tsunami has begun. 
(D) Supporting his statement, StratoDem Analytics’ national consensus Gross Domestic Product 
(GDP) forecasts that the second quarter of 2020 shows a decline of 12.9% in US. 
(E)Today’s unemployment insurance (UI) data and the junk bond market sell-off are very 
negative macroeconomic and market signals that will adversely affect banks. 
(F) Thus, it is evident that every county in the nation will suffer differently. 
(G) Not just these, in fact all sectors of the economy are vulnerable to varying degrees. 
 
Q11. Considering statement (C) as the first sentence of the rearranged paragraph, then which 
among the following fails to become the part of the coherent paragraph? 
(a) A 
(b) B 
(c) D 
(d) F 
(e) E 
 
Q12. Considering statement (C) as the first sentence of the rearranged paragraph, then which 
one among the following can come after the sixth statement of the rearranged paragraph? 
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(a) Yesterday’s jobless claims certainly already show that we will be in an decrease in the 
production with regards to the automobile sector. 
(b)But the economic impact hits much harder for provinces driven by tourism or cyclical 
manufacturing. 
(c) Many counties will likely see a -10% to -14% drop in Q2 GDP, within the range of many of the 
most-recent GDP estimates. 
(d) Either (a) or (c) 
(e) None of these 
 
Q13. Among the following pairs which one of them is formed with two consecutive statements 
after the rearrangement? 
 
(a) A-D 
(b) G-C 
(c) C-D 
(d) A-G 
(e) C-B 
 
Q14. Considering statement (C) as the first sentence of the rearranged paragraph, identify the 
correct sequence of the sentences to form a coherent paragraph (excluding the incoherent one). 
 
(a) CGADBF 
(b) CAGBDF 
(c) CABDGF 
(d) CGDBFG 
(e) None of the above 
 
Q15. Considering statement (G) as the first sentence of the rearranged paragraph, which of the 
following statement should be FOURTH sentence after the rearrangement? (excluding the 
incoherent sentence) 
 
(a) A 
(b) F 
(c) B 
(d) G 
(e) C 
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Solutions: 

 
S1. Ans. (b) 
Sol. Statement (I) and (III) use the highlighted word Engross in a grammatically correct and 
contextually meaningful manner. Hence, option (b) is the right answer choice.  
Engross- absorb all the attention or interest of, Engage, preoccupy 
 
S2. Ans. (b) 
Sol. Statement (I) and (III) use the highlighted word Repine in a grammatically correct and 
contextually meaningful manner. Hence, option (b) is the right answer choice. 
Repine- feel or express discontent; fret. 
 
S3. Ans. (e)  
Sol. Statement (II) uses the highlighted word Dynamic in a grammatically correct and contextually 
meaningful manner. Hence, option (e) is the right answer choice. 
Dynamic- (of a process or system) characterized by constant change, activity, or progress. 
-A force that stimulates change or progress within a system or process. 
-(of a verb) expressing an action, activity, event, or process. 
 
S4. Ans. (b)  
Sol. Statements (I) and (III) use the highlighted word Ostracism in a grammatically correct and 
contextually meaningful manner. Hence, option (b) is the right answer choice. 
Ostracism- exclusion from a society or group or (in ancient Greece) temporary banishment from 
a city by popular vote. 
 
S5. Ans. (a) 
Sol. Statement (I) uses the highlighted word Egress in a grammatically correct and contextually 
meaningful manner. Hence, option (a) is the right answer choice. 
Egress- the action of going out of or leaving a place. 
 
S6. Ans. (b) 
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Sol. “Powerful security decision to pause” should replace the phrase printed in bold in the 
sentence to make it grammatically correct. Hence, option (b) is the right answer choice.  
 
S7. Ans. (a) 
Sol. “Are worried about what will happen” should replace the phrase printed in bold in the 
sentence to make it grammatically correct. Hence, option (a) is the right answer choice.  
 
S8. Ans. (c)  
Sol. “Are still in detention centers” should replace the phrase printed in bold in the sentence to 
make it grammatically correct. Hence, option (c) is the right answer choice.  
 
S9. Ans. (d) 
Sol “Can demystify discussions around” should replace the phrase printed in bold in the sentence 
to make it grammatically correct. Hence, option (d) is the right answer choice.  
 
S10. Ans. (a) 
Sol. “Have the greatest need” should replace the phrase printed in bold in the sentence to make 
it grammatically correct. Hence, option (a) is the right answer choice.  
 
S11. Ans. (e)  
Sol. The correct sequence is CAGBDF.  
(C)When we look back a few months, this may very well be the week when it should be clear to 
all, that the coronavirus unemployment tsunami has begun. 
(A)This can be seen as thousands of restaurants, bars, hotels, and small businesses closing down 
voluntarily or due to state government executive orders, jobless claims are rising at 
unprecedented levels. 
(G) Not just these, in fact all sectors of the economy are vulnerable to varying degrees. 
(B)According to James Chung, Partner at StratoDem Analytics, “it is crystal clear that the US has 
entered a sharp recession.” 
(D) Supporting his statement, StratoDem Analytics’ national consensus Gross Domestic Product 
(GDP) forecasts that the second quarter of 2020 shows a decline of 12.9% in US. 
(F) Thus, it is evident that every county in the nation will suffer differently. 
Hence, option (e) is the right answer choice.  
 
S12. Ans. (c) 
Sol. The correct sequence is CAGBDF.  
(C)When we look back a few months, this may very well be the week when it should be clear to 
all, that the coronavirus unemployment tsunami has begun. 
(A)This can be seen as thousands of restaurants, bars, hotels, and small businesses closing down 
voluntarily or due to state government executive orders, jobless claims are rising at 
unprecedented levels. 
(G) Not just these, in fact all sectors of the economy are vulnerable to varying degrees. 
(B)According to James Chung, Partner at StratoDem Analytics, “it is crystal clear that the US has 
entered a sharp recession.” 
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(D) Supporting his statement, StratoDem Analytics’ national consensus Gross Domestic Product 
(GDP) forecasts that the second quarter of 2020 shows a decline of 12.9% in US. 
(F) Thus, it is evident that every county in the nation will suffer differently. 
Hence, option (c) is the right answer choice.  
 
S13. Ans. (d) 
Sol. The correct sequence is CAGBDF.  
(C)When we look back a few months, this may very well be the week when it should be clear to 
all, that the coronavirus unemployment tsunami has begun. 
(A)This can be seen as thousands of restaurants, bars, hotels, and small businesses closing down 
voluntarily or due to state government executive orders, jobless claims are rising at 
unprecedented levels. 
(G) Not just these, in fact all sectors of the economy are vulnerable to varying degrees. 
(B)According to James Chung, Partner at StratoDem Analytics, “it is crystal clear that the US has 
entered a sharp recession.” 
(D) Supporting his statement, StratoDem Analytics’ national consensus Gross Domestic Product 
(GDP) forecasts that the second quarter of 2020 shows a decline of 12.9% in US. 
(F) Thus, it is evident that every county in the nation will suffer differently. 
Hence, option (d) is the right answer choice.  
 
S14. Ans. (b) 
Sol. The correct sequence is CAGBDF.  
(C)When we look back a few months, this may very well be the week when it should be clear to 
all, that the coronavirus unemployment tsunami has begun. 
(A)This can be seen as thousands of restaurants, bars, hotels, and small businesses closing down 
voluntarily or due to state government executive orders, jobless claims are rising at 
unprecedented levels. 
(G) Not just these, in fact all sectors of the economy are vulnerable to varying degrees. 
(B)According to James Chung, Partner at StratoDem Analytics, “it is crystal clear that the US has 
entered a sharp recession.” 
(D) Supporting his statement, StratoDem Analytics’ national consensus Gross Domestic Product 
(GDP) forecasts that the second quarter of 2020 shows a decline of 12.9% in US. 
(F) Thus, it is evident that every county in the nation will suffer differently. 
Hence, option (b) is the right answer choice.  
 
S15. Ans. (c) 
Sol. The correct sequence is CAGBDF.  
(C)When we look back a few months, this may very well be the week when it should be clear to 
all, that the coronavirus unemployment tsunami has begun. 
(A)This can be seen as thousands of restaurants, bars, hotels, and small businesses closing down 
voluntarily or due to state government executive orders, jobless claims are rising at 
unprecedented levels. 
(G) Not just these, in fact all sectors of the economy are vulnerable to varying degrees. 
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(B)According to James Chung, Partner at StratoDem Analytics, “it is crystal clear that the US has 
entered a sharp recession.” 
(D) Supporting his statement, StratoDem Analytics’ national consensus Gross Domestic Product 
(GDP) forecasts that the second quarter of 2020 shows a decline of 12.9% in US. 
(F) Thus, it is evident that every county in the nation will suffer differently. 
Hence, option (c) is the right answer choice. 
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